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Explanations and answers to select questions

06 Option (D) is the correct answer. The four additional/other words are : hares, hears, rheas, shear.

07 Option (C) is the correct answer. It also means a military vehicle or a large can.

13 Option (B) is the correct answer. The adjectives are : ‘fed up’, ‘his’ and ‘fair weather’. Possesive adjectives
in English (his) refer to the possessor and not to the thing possessed.

15 Option (B) is the correct answer. The syllables are : Ap-point-ment.

23 Option (D) is the correct answer. A relative pronoun (that here) agrees with its antecedent in gender, number

and person. The antecedent of that is ‘books’, not ‘one’, so ‘have’, not ‘has’.

24 Option (C) is the correct answer. This is a ‘second conditional’ : If + past simple (studied), would + infinitive

(succeed)’.

26 Option (C) is the correct answer. That makes it a correct parallel structure, ‘to read’ and ‘to appreciate’.

29 Option (C) is the correct answer. The possessive adjective ‘their’ leads to that.

31 Option (D) is the correct answer. The pronunciations of first syllables of ‘NCC’ and ‘intelligent’ are as in

‘entry’ and ‘invention’ respectively, both vowel sounds, so ‘an’.

33 Option (B) is the correct answer. Only that is not a homonym like the others. So, it is not about what type
of tool that is.

35 Option (D) is the correct answer. As the reporting verb (says) is in the present tense, there is no change of

tense in the reported speech without quotes.

(Please note that this key is within the purview of Oxford Advanced Learner’s Dictionary, published in 2014.)
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